—gEmE  —TE=f

kA THT T
FRBEE
FEIEE A 15 1,350 1,425
& MFEFRIE 16 18,200 18,200
Y - BB MR 17 37,426 33,469
iy l/NE s 5y 19 11,143 12,595
AT A — B R B i 2 BB AR i 20 15,000 =
HEESH 21 9,946 600
93,065 66,289
RBEE
Pty 22 5,354 7,881
R E 5 5kI8 23 6,383 7,109
TERFIE ~ e REALEUEIR 6,880 3,106
FERFLFK 224 =
He RIRTTEER 19,999 17,388
38,840 35,484
RBAE
B BIRITIEE 24 8,466 2,876
BWE Fine 189 38 20
e E S FRIE 25 6,763 5,793
E M sIE R ERTE R 3,544 7,420
BERLD 26 149 208
FESIT IR - 1,820
19,111 18,155
REBEEFE 19,729 17,329
HEERRBEE 112,794 83,618
FFRBaE
EIRTTHR 24 4,114 -
REMLFIE 26 84 225
4,198 225
DB R 11,194 -
BEFE 97,402 83,393




21

—EENF  —TT=F
Biat FHT T

BAE #E
%N 27 16,022 2,000
(= 29 81,380 81,393
97,402 83,393

REFEN_TTWUFEA -+ N\BHUE -

RiRE At
FE EF

BEM 2 PR Rt SR R RN 2 — &R

BA

BERZERAERAQA
= T O 4E g



